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TELECOMMUNICATION & SWITCHING NETWORKS

PART-II

frutfea wmg . A= ET ) [arfermam 3 : 70

Time allowed : Three Hours]|

[Maximum Marks : 70

(i) Wem T wEEE 2 v A 4 e ate & 3 diad |

Tz

Note :

1. (1)
(i1)
(ii1)
(iv)
(v)

2. (D)
(i1)

Question Noo 1is compulsory, answer any five guestions from the remaining.

T OET F T G 7 FOA 0% G 2 AT |
S narts of a guestion consecutively rogether.
T T I 99 TS T 9T FIfAT

Oniv English version is valid in case of difference in both the languages.

TEaAa SEl T o e § ATl HiE 9 2 & A fafed |
Write name of any four tones used in automatic telephone exchange.
feafe & F2ict w1 2 £ 2

What are the control functions in switching ?

What is an input-controlled time-division switch ?

Hertg WGl & 37T 1 W § 7

What do you understand by blocking probability ?

LAN &t ¢ gt g1 fefed |

Write anv two disadvantages of LAN. (2%5)

EUT ANE T 9eradl @ F12AE FH WA F JHAET |
Explain cordless phone system with the help of block diagram.
fafa= v % o Sees TaRad s i QUi Fiieg |

Explain various types of automatic telephone exchanges. (6x2)

9) P.T.O.
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3. ()
(i1)
4. (i)
(11)
5. ()
(i)
6. (i)
(11)
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H5i%d SPC & e+ & aR # forarR & wwened |

Explain about centralised SPC organisations in detail.
THTANG Al T qgEd e | fawgd qor St |

Make a detailed comparison between the single stage networks and multistage
networks. (6x2)

A | gfgea danst i fowar @ wwsd |
Explain enhanced services in detail in telecommunications ?
a7 3t T O o foia.fafe awafovem o fag & goad

With the help of diagram explain an output-controlled time-division space
switch. (6x2)

U T, 2w, g #t s F e ) wewda 9 aeeEd |
Explain the working of STS switch with the help of diagram.
[EUR ¥ feat ol & I 7 g9y |

Explain delay systems in telecommunications. (6x2)

Explain a time multiplexed space switch with N control memory modules.

30 Wt &1 U YU 15 Erlangs &1 2f%F & 91 781 § | 370 UF CALL &1 #HId §94 3
fome & &t o FR |

A group of 30 server carry a traffic of 15 erlangs. If the average duration of a call
is three minutes then calculate :

(2) U WaT gRT & T CALLS &t W&

Numbers of calls initiated by a server.
(b) Y9I FRI T CALLS &t $1 G

Total numbers of calls initiated by the group. (6, 3+3)
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7. (i) MAN @ WAN i fawm & qom s |
Compare between MAN and WAN in detail.
(ii) STeT 2 W o R % i gneed |

Explain about network traffic load and parameters.

8. fra v @ frelt gt W femoit s -

Write short notes on any two of the following :

() WugAem.

PSTN
(i) T Feas

Three stage network
(iii) weHia whwa

Markov Process
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